

IRISH STANDARD

I.S. EN 1001-2:2005

ICS 01.040.79

National Standards Authority of Ireland Glasnevin, Dublin 9 Ireland

Tel: +353 1 807 3800 Fax: +353 1 807 3838 http://www.nsai.ie

DURABILITY OF WOOD AND WOOD BASED

PRODUCTS - TERMINOLOGY - PART 2:

VOCABULARY

Sales

http://www.standards.ie

This Irish Standard was published under the authority of the National Standards Authority of Ireland and comes into effect on: October 28, 2005

NO COPYING WITHOUT NSAI PERMISSION EXCEPT AS PERMITTED BY COPYRIGHT LAW

© NSAI 2005 Price Code Y

Údarás um Chaighdeáin Náisiúnta na hÉireann

This is a free page sample. Access the full version online.

EUROPEAN STANDARD NORME EUROPÉENNE EUROPÄISCHE NORM

EN 1001-2

August 2005

ICS 01.040.79; 79.020

English Version

Durability of wood and wood based products - Terminology - Part 2: Vocabulary

Durabilité du bois et des matériaux dérivés du bois -Terminologie - Partie 2: Vocabulaire Dauerhaftigkeit von Holz und Holzprodukten - Terminologie - Teil 2: Vokabular

This European Standard was approved by CEN on 24 June 2005.

CEN members are bound to comply with the CEN/CENELEC Internal Regulations which stipulate the conditions for giving this European Standard the status of a national standard without any alteration. Up-to-date lists and bibliographical references concerning such national standards may be obtained on application to the Central Secretariat or to any CEN member.

This European Standard exists in three official versions (English, French, German). A version in any other language made by translation under the responsibility of a CEN member into its own language and notified to the Central Secretariat has the same status as the official versions.

CEN members are the national standards bodies of Austria, Belgium, Cyprus, Czech Republic, Denmark, Estonia, Finland, France, Germany, Greece, Hungary, Iceland, Ireland, Italy, Latvia, Lithuania, Luxembourg, Malta, Netherlands, Norway, Poland, Portugal, Slovakia, Slovenia, Spain, Sweden, Switzerland and United Kingdom.



EUROPEAN COMMITTEE FOR STANDARDIZATION COMITÉ EUROPÉEN DE NORMALISATION EUROPÄISCHES KOMITEE FÜR NORMUNG

Management Centre: rue de Stassart, 36 B-1050 Brussels

EN 1001-2:2005 (E/F/D)

Contents		Page
Fore	eword	3
Introduction		4
1	Scope	5
2	List of terms and their definitions	5
Ann	nex A (informative) Trilingual alphabetical index	66
Bibliography		88

EN 1001-2:2005 (E/F/D)

Foreword

This European Standard (EN 1001-2:2005) has been prepared by Technical Committee CEN/TC 38 "Durability of wood and wood based products", the secretariat of which is held by AFNOR.

This European Standard shall be given the status of a national standard, either by publication of an identical text or by endorsement, at the latest by February 2006, and conflicting national standards shall be withdrawn at the latest by February 2006.

This European Standard supersedes HD 1001:1984.

This standard is divided in two parts; the part 1 gives a list of equivalent terms and the part 2 gives a list of terms with their definitions.

According to the CEN/CENELEC Internal Regulations, the national standards organizations of the following countries are bound to implement this European Standard: Austria, Belgium, Cyprus, Czech Republic, Denmark, Estonia, Finland, France, Germany, Greece, Hungary, Iceland, Ireland, Italy, Latvia, Lithuania, Luxembourg, Malta, Netherlands, Norway, Poland, Portugal, Slovakia, Slovenia, Spain, Sweden, Switzerland and United Kingdom.

EN 1001-2:2005 (E/F/D)

Introduction

The terms presented in this document have been selected as terms frequently used in the specific suite of existing standards produced by the Technical Committee CEN/TC38 'Durability of wood and wood-based products'.

The terms presented in the document corresponding to the aim of CEN/TC 38 are widely the terms included in BS 4261 with the kind authorisation of BSI.

Some terms and their definitions can differ from those preferred and designated in other European Standards or standards at a national level.

Terms are listed alphabetically in the trilingual index and are referred to by numbers, which are found against terms in the body of the vocabulary. There they are arranged in alphabetical order within each section.

Bold type in a definition denotes a term that is defined elsewhere in the vocabulary.



The is a new provider i arenade and chare publication at the limit below	This is a free preview.	Purchase the	entire publication	at the link below:
--	-------------------------	--------------	--------------------	--------------------

Product Page

- Dooking for additional Standards? Visit Intertek Inform Infostore
- Dearn about LexConnect, All Jurisdictions, Standards referenced in Australian legislation